35 +5 =90 # -1} = 63
%8 x b = 52_8 +4=53)
Dot ke ¢l l:jm«k ' Jsas L83

\

@ Using the numbers
75,9,6,5,4,1

Make the number 532.

I have a 3m ladder. The
closest I can put the base
of the ladder to my house is
1.6m. Can I reach the
window which is 2.75m high?

| 1y

The sum of 2 prime
numbers is 133. What
are the numbers?




" 5 5=t perits
N QA TWL

\{\0 .
— 19 & In a school of 600 pupils, \

@ 400 have a Facebook
account, 350 have a Twitter
account and 75 have neither.

How many have both?

S00 mL =11 pancares
each ponCaRe = diarmutes of [Scm |

e
171 i
= 33{’3 ‘)Mw‘%
boeo- o A SN
Pancake Day! 500ml of batter can make

12 pancakes with a diameter of 15cm. If
I use a 9cm diameter pan how many
pancakes can I make? Assume they are

the same thickness.




(4-6-"0 6me - 4 L

b c-a< ¢ 2~
2 ‘7’*;2 2 ErtiEl e
., =3 - 442
= 3 4t7 fri o
T

f%Can you work out what value

the different items are?

@+@+6=14 gz’

{ 5 C ‘ \ J
2= | =0.-3FS
U2
sl F

7 Children are to sit at one of the
following tables in order to get the most
chocolate. The first 4 have sat at the
tables which will give them the most.
Where will the 7™ child sit?




Q‘ 6 % 5 Ferrari & 3 Bentley cars cost \
_ £950,000. 2 Ferrari & 6 Bentley cars
E)—i’v\{[ej - X K[' (OVVLQ/Q@') cost £1.1million. How much is each?

(7025) x 3= [1Zkow hr
L55000000 =112 =

20089 2¢.94] D
0y ~ s Jod, C
74 Forreri= 100,
(hewblk 36 6 - 5 76 O A:;f [jQ»le’(% - ESG{ Gu0
"\0“\3) J %,
: | ‘ | 0SS0 . 000 X+
008G 25-57( = 8760 - e 6B 10000 T
| | sp 2T &%,\ [,409,0
7724. ,%Zfitwsgjem ML T \ i, 100, 6
S0C, 960 ~ ¥ o /QOD U
S <l
100, 0606
Mars is 225 million km f A foceoks 16Y, 000
ars is million km Trom . o e T ~ 99,000
Earth. If you could drive e " % 3 Bow
there at 70mph, how old /\f(\ci :

would you be when you

arrive? !




3x32: 256
28 xF= 208

286~-203:55
Q22

e
Eight people on a trip have a
mean age of 32. One person

leaves and the mean age
falls o 29. How old was the

person who left? ’A
e

\\l
A,
%Ther‘e are 522 episodes of
The Simpsons with average
length of 22mins. If I
started watching them on
Saturday at 8am when would

g I finish? ’A/

_ . T JoUu TFATTw ATT

2 2 epiSodale g g ,
5 i > twE EPISoDEs Frepn
Qe 22 TV SAT AT oo wwreN

- WAL L Mou FINg
S22 <272 J "

o8 1‘%50(

HOuvR § @

D ANS =
24 4.4 =24 = 7.978

WATVWARING (ATE N CXT SATURON Y

»  Ev edLSW



%Whaf is The least amount of colours you \
can colour this shape in so that no
adjacent colours are touching the same?

| | = )
First of au € thought A T+ Ccan be
M+ wuas Pread S colo uwirs Ao ne wiirhh M ecaltuwurSs cus +he

G Ne. TR U CanN v & US e ol on

@ Fomd e

G LI . : y N2
" _s3Y
‘ ¢ 375

70-/———*@30 s 70| 420 e N 5 7
| us | 675 a0 | ° 4 +(6x) T

5

75‘ /<7:E;2.5
525 + 9 -5tk

N Q
J 2

BKS - 2795

dxCx (19 = 77 (75 rs) bla-i)xb:
| = 5321,

6\\/1 Using the numbers \

75,9,6,5,4,1
Make the number 532,




" 5 5=t perits
N QA TWL

\{\0 .
— 19 & In a school of 600 pupils, \

@ 400 have a Facebook
account, 350 have a Twitter
account and 75 have neither.

How many have both?

S00 mL =11 pancares
each ponCaRe = diarmutes of [Scm |

e
171 i
= 33{’3 ‘)Mw‘%
boeo- o A SN
Pancake Day! 500ml of batter can make

12 pancakes with a diameter of 15cm. If
I use a 9cm diameter pan how many
pancakes can I make? Assume they are

the same thickness.




